Entralnement conversions - Correction

Longueurs

6 m = 600 cm
8,534 km = 853,4 dam
7213 mm = 0,7213 dam

34,65 km = 34 650 m

Aires

23 dam = 230 000 mm

15,45 hm = 1545 m

7,875 m = 0,078 75 hm

142,9 ¢cm = 0,142 9 dam

3,4 dm = 0,0034 hm

74,3 cm = 0,00743 hm

6,89 em = 0,000 068 9 km

92,5 ecm = 0,925 m

5 dm? = 500 em?
7 231 mm? = 0,7231 dm?
7213 hm? = 721 300 dam?

25 ha = 0,25 km?

Volumes

89 m?2 = 8 900 dm?

646, 2 dam? = 0,064 62 km?

45,82 em? = 0,000 045 82 dam?

558 m? = 0, 0558 ha

285 em? = 10,0285 m?

1,68 km? = 168 hm?

23,82 dm? = 0, 2382 m?

2,5 km? = 2500 ha

7 m3 =7 000 dm3

4,102 dm? = 4 102 000 mm?3

1,2 m3 =1 200 dm3

45,3 m3 = 45 300 000 cm?

540 L = 0,54 m3

7,5dm?>="7,5L

0,5m3=5hL

91 ¢m3 = 0,000 091 m3

0,07 m? = 70 000 em?

7743 dm3 = 7,743 m3

63,4 dam?® = 63 40 000 dm?

14 dm3 =14 L

2,4m3=1400 L

0,06 cm? = 0,06 mL

21,7 dam? = 21 700 m?

300,2 em? = 0,300 2 dm?

2,59 dam? = 0,002 59 hm3

0,763 dm?3 = 0,763 000 mm?3

342 [ = 342 dm?

7 m3 =7 000 000 mL

1237 dL = 123,7 dm?
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